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Addition  

Grade 2 Word Problems Worksheet 
 
 

A strawberry farm opened to the public last week.  

 

1. The farmer harvested 19 baskets of strawberries 

on Monday. His wife also harvested 14 baskets of 

strawberries. There were also 8 baskets harvested 

by visitors. How many baskets of strawberries 

were harvested altogether? 

 

 

 

2.  There were 20 strawberry plants in the first row 

and 18 plants in the second row. The farmer 

made a third row and planted 9 more strawberry 

plants. How many strawberry plants were there in 

the 3 rows? 

 

 

 

3.  Jake bought one small basket of strawberries. 

From that basket, he used 18 strawberries for his 

cake. He shared 12 strawberries with his friend, 

and there were 5 strawberries left in the 

basket. How many strawberries were 

there in the basket in the first place? 
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4. The farmer received a delivery from a supplier. 

He received 8 sacks of fertilizer, 12 sacks of soil, 

and 8 packages of seeds. How many sacks did 

the farmer receive from the supplier? 

 

 

 

 

 

5. The farmer made strawberry jam for extra 

income. He sold 28 bottles of jam at the farm, 

and he delivered another 12 bottles of jam to 

another place. There were 7 bottles of jam left on 

the display. How many of bottles of strawberry 

jam did he make altogether? 

 

 

 

 

 

6. Write the addition equation for this sentence: 

“The strawberry farm operated 8 hours on each 

of the first and second days they were open to 

the public. On the third day, the farm extended 

its hours up to 10 because so many visitors came. 

The strawberry farm operated 26 hours over three 

days.” 
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Answers 
 

1.  19 + 14 + 8 = 41 
There were 41 baskets harvested. 

 
2.  20 + 18 + 9 = 47 

There were 47 strawberry plants in the 3 rows. 
 
3.  18 + 12 + 5 = 35 

There were 35 strawberries in the basket. 
 
4.  8 + 12 = 20 

The farmer received 20 sacks from the supplier. 
 
5.  28 + 12 + 7 = 47 

He made 47 bottles of strawberry jam. 
 
6.  8 + 8 + 10 = 26 
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